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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

- 1. Answer the following questions as directed :

1x10=10
e SR weT ppTRd Bed o
(@) What is price discrimination?
w4 Resheae 2

(b) Give an example of monopsony market.

GFF (o] IER9 9f6 TrrEae g |

(c) Define internal rate of return.

gl Afene 2[ sge |
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(2) (3)

(d) Write True or False : §) Fill in the blank :

TS (1 =P fore <0 7% o 1

“Standard of living of worker depends on

5 5 In monopolistic competition, there are
real wage, not money wage.

two types of costs. They are production

‘AP FEURR TW AFS TGRA  8ORS costsand .
o<, g TR e A 1 T AR TS R S T A
(e) Give an example of insurable risk. G2 701 2% TR T e |
Rrcaren =R «ft Tarzae i |
(/ What do you mean by Welfare 2. Answer the following questions : 2x5=10
Economics? ©ed AAPTRY Taq for
Fal SIS Jferca & 3@ ? (a) State why Pigou is called the father of

Welfare Economics.

g Ry e st Be @ @@ =,

(g) What is transfer earning?

TWEI-TTE 2 o
(RaShngss s comrset onf (b) “Rent enter into price.” Comment.

S bl 4 w9] e 77 e |

In monopoly, Marginal Revenue Product . -

(MRP) is (greater than/equal to/less (c) Point out two differences between Net

than) Value of Marginal Product (VMP). Present Value and Internal Rate of

A TS AfeT KA AT SATH, Return.

e Beemea Jora (/> /) = | W TN T A AR AT 2 /R 7l
: o (12 Topfrer |
(i) State the compensation principle.

oo ST o7 | (d) What is shutdown point?

' e 3= R T 2

Continued |
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(4) (5)

() What are  ‘Heroic’ assumptions (e) What is collective bargaining? Describe
mentioned by Chamberlin? the role of trade union in the upliftment
AR rEd T Reaize’ wfedmer fe 2 of worlne class,

TR wWhe o ufiE iR TeRTe @
, , BRI “ffeT 1 iRl I 40
3. Answer any four of the following questions :
5x4=2( () Discuss payback period method as a

SR 2ppTEd 7 I BiRkeR T e . criterion of project appraisal.

i , AH RS Ao el 2fie) TaEere “mfecs

(a) What are the conditions for possibilities

) o . ECETeAT <41 |
and profitabilities of price
discrimination? . .
4. Answer the following questions :
W Reewiesd SR U ARER QRR o PR T e -
5[ & 6 2
! (@) Explain the short-run equilibrium of a

(b) Distinguish between economic profit and firm and industry in a perfectly
accounting profit. competitive market under identical and
QT A S SIS FST AL fore | different costs conditions. 10

. 9 SEES AffscaEt a9

(c) Explain the concept of quasi-rent as the ZE; WF 5%{"\21?!3 B GE{ o 5 gl 2
difference between total revenue and Bl ?ﬁ\; 3 Sl

|

total variable cost.

T OH W 5 ARSI T AT 2o | Or / Fl

S LG QIEenit T 4 | : ;
Explain how price and output are

(d) Explain briefly the innovation theory of determined by a  discriminating
profit. monopolist. 10
S oY T OGo 5J¢e 91 I | e Rrstiye Goioal AP @ T

I AN AR R FcT, o o
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(6)

(b) Critically discuss the marginal

()

A7/841

productivity theory of distribution. 1
fAea@ aifes SeemmAierel ©efbd JAACHBARS
ST SR |

Or / 5241

Explain Ricardo’s concept on rent as a
differential surplus. Il

AqeFrEe Tge fBone demR f[aa [ee's
N ¢ 4 |

Discuss how wage is determined under
bilateral monopoly. 1t

faefifire aeoofom are TgR e T
F1 =, A 37
Or / 9441

What is average rate of return criterion?
If initial investment outlay of a two-year
project is 90,000 and net income before
taxes is 50,000 and income tax is 50%,
then calculate average rate of return.
Again, if the minimum cut-off rate is
10%, whether the project will be selected
or not? 3+5+2=1(
TS eiferr 2 Mfecsr R 2 ez qE=I[ 9
4PE ARRT Rt 99 90,000 T W
M I} o wsE wEm W € 50,000 W
SEFT 50% =, corR’ee % AR 2
T 911 e ez e FOT W 10%
2, cofon ot it $RT ¢ 76T ?

( Continued

(d) Explain

(7))

the Pigouvian

Welfare Economics.

Feel SN R Preq q@enfo 3¢far w1 |

Or / 541

concept of
10

\
What is Pareto optimality? Discuss the |
conditions of Pareto optimality. 10 ‘

\

(AR I 9%l 2 (ORI @[
BETR AT 4T |
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